
 Optional Parts

Option-2

Option

Example 
(R100)

R Series Attachment
BASE Attachment Plate model

F- 10-1 R
F-R15-1 
F-R25-1 
F-R50-1 
F-R100-1 
F-R150-1 

 

R10A 
R15A 
R25A 
R50A 
R100 
R150

 F-R25-1  F-R50-1

 F-R100-1  F-R150-1

  M3 Flat screw is requested when mounting.  Please check the instruction manual for the size of screw.

 M3 Flat screw is requested when mounting.  Please check the instruction manual for the size of screw.

 M4 Flat screw is requested when mounting.  Please check the instruction manual for the size of screw.

Size

  Material : SPCC 
  Thickness : 2.0

Size

  Material : SPCC 
  Thickness : 2.0

Size

  Material : SPCC 
  Thickness : 2.0

Size

  Material : SPCC 
  Thickness : 2.0

Size

  Material : SPCC 
  Thickness : 2.0

Mounting hole size

Mounting hole size Mounting hole size

Mounting hole size Mounting hole size

(Unit : mm) (Tolerance : 1)  

845
94

2- 3.5 

16
2630

2-M3

84

10

1195
129

2- 3.5 

16
.5

33 30
2-M3

119

13
.5

167.5
187 3- 4.5 

13.5

15.5

39
.5

30
7

44
.5

3-M4

167.5

30
2.

5

1045

114

2- 3.5 

15
.5

2631

2-M3

104

10
.5

172
159.5

3- 4.5 

6.5

15

29
.5

20
7

34
.5

3-M4

159.5

20
2.

5

FRONT 

 

FRONT 

 

FRONT 

 

FRONT 

 

FRONT 

 

TOP  VIEW   
  F- 10-1R   F-R15-1

Size

  Material : SPCC 
  Thickness : 2.0

77.5
4.5

6

68

10 27
13

.5

2 - 3.5 

Mounting hole size

FRONT 

 

68

2-M3

10

 Weight : 40g max

 Weight : 65g max

 Weight : 110g max

 Weight : 80g max

 Weight : 50g max

 Weight : 150g max

Applicable models

me_option.indd   2me option indd 2 2015/06/12   17:57:362015/06/12 17:57:36



Optional Parts

Option-3

Option

Example

FRONT REVERSE  
Attachment

 Plate model
F-K10-2 
F-R15-2 
F-R25-2 
F-R50-2 
F-R100-2 
F-R150-2 
 

R10A 
R15A 
R25A 
R50A 
R100 
R150

 F-R15-2

 F-R25-2  F-R50-2

 F-R100-2  F-R150-2

Size

  Material : SPCC 
  Thickness : 1.6

Size

  Material : SPCC 
  Thickness : 1.6

Size

  Material : SPCC 
  Thickness : 1.6

Size

  Material : SPCC 
  Thickness : 1.6

Size

  Material : SPCC 
  Thickness : 2.0

(Unit : mm) (Tolerance : 1) TOP  VIEW   

32

5

85.5

6.5
35

1510 8.5
15

2 - 4.0 

 3.5

16

31

5
105.5

6.5

35

1510

8
15

2 - 4.0 

15
.5 33

5

120.5

6.5
35

1510

9
15

2 - 4.0 

 3.5

16
.5

34
.5

161.5

16.5
35

1510 9.5
15

2 - 5.0 

 4.5
15

17

44
.5

15.5

178

50
30

10

9.5

2 - 5.0 

 4.5
18.5

25
22

  F-K10-2

  Material : SPCC 
  Thickness : 1.6

Size

27

69

3537.5
15

13
.5

106.5 6
15

3 - 3.5 

 3.5

 M3 screw is requested when mounting.
 Please check the instruction manual for the size of screw.

 M3 screw is requested when mounting.
 Please check the instruction manual for the size of screw.

 M4 screw is requested when mounting.
 Please check the instruction manual for the size of screw.

 Weight : 60g max  Weight : 75g max

 Weight : 100g max

 Weight : 220g max Weight : 130g max

 Weight : 85g max

Applicable models

me_option.indd   3me option indd 3 2015/06/12   17:57:372015/06/12 17:57:37



Optional Parts

Option-17

Option

APPLICABLE TO MODEL

EXTERNAL VIEW

DIN RAIL ATTACHMENT
MODEL : FD-SP

Din rail Attachment Plate

Din rail width : 35mm

Model
FD-A
FD-B

L1
165
115

L2
174.5
124.5

L3
178.6
128.6

Material : SPCC
Thickness : 1.6
Tolerance : 1
Weight : FD-A 290g max

FD-B 240g max

(Unit : mm)
86

70
4

50

18

L3

L2

L1

Plate model Model

FD-A

FD-B
MMC8A
R10A, R15A, R25A
RMB15A, RMC15A

R50A
RMB30A, RMC30A

Type

M3

M3

screws for installation
Qty

2pcs

2pcs

Weight : 85g max

9.550
13.6 1

8
4

54

15
40

86

70

38 6

4-   3.5

MOUNTING EXAMPLE

  Material : SPCC 
  Thickness : 1.6 
   Tolerance : 1

Power Supply

me_option.indd   17me option indd 17 2015/06/12   17:57:422015/06/12 17:57:42



Optional Parts

Option-31

Option

Model
Harness model #

Input Output
H-OU-9
H-OU-16
H-OU-15

Mating harness

H-IN-3
Model number Type Wire

Housing : VHR-5N (J.S.T.)
Pin : SVH-21T-P1.1 (J.S.T.)

R10A 15A 25A 50A
RMB15A 30A 50A
RMC15A 30A 50A

R
RMB
RMC

Series
Series
Series

Harness for input/output(J type) is prepared in R series.

H-IN-3

Pin # Wire AWG Color
1
2
3
4
5

500

500

500

UL1015

UL1015

UL1015

20

20

20

white

black

green

Length
(mm)

-0
+50

1
2
3
4
5

H-OU-9
Model number Type Wire

Housing : VHR-4N (J.S.T.)
Pin : SVH-21T-P1.1 (J.S.T.)

Pin # Wire AWG Color
1
2
3
4

500
500
500
500

UL1015
UL1015
UL1015
UL1015

18
18
18
18

black
black
red
red

Length
(mm)

-0
+50

1
2
3
4

H-OU-15
Model number Type Wire

Housing : VHR-8N (J.S.T.)
Pin : SVH-21T-P1.1 (J.S.T.)

Pin # Wire AWG Color
1
2
3
4
5
6
7
8

500
500
500
500
500
500
500
500

UL1015
UL1015
UL1015
UL1015
UL1015
UL1015
UL1015
UL1015

18
18
18
18
18
18
18
18

purple
gray
gray

orange
black
black
red
red

Length
(mm)

-0
+50

1
2
3
4
5
6
7
8

H-OU-16
Model number Type Wire

Housing : VHR-6N (J.S.T.)
Pin : SVH-21T-P1.1 (J.S.T.)

Pin # Wire AWG Color
1
2
3
4
5
6

500
500
500
500
500
500

UL1015
UL1015
UL1015
UL1015
UL1015
UL1015

18
18
18
18
18
18

gray
orange
black
black
red
red

Length
(mm)

-0
+50

1
2
3
4
5
6

Weight : 20g max

Weight : 40g max

Weight : 80g max

Weight : 60g max

me_option.indd   31me option indd 31 2015/06/12   17:57:472015/06/12 17:57:47



Mouser Electronics
  

Authorized Distributor
 
  

Click to View Pricing, Inventory, Delivery & Lifecycle Information:
 
 
 
 Cosel:   

  F-R25-2  F-R10-1  F-R50-2  H-OU-16  F-R150-1  F-R15-2  H-OU-9  F-R15-1  H-OU-15  F-R100-2  F-R150-2  F-

R100-1  F-R25-1  F-R50-1  H-IN-3

http://www.mouser.com/
http://www.mouser.com/access/?pn=F-R25-2
http://www.mouser.com/access/?pn=F-R10-1
http://www.mouser.com/access/?pn=F-R50-2
http://www.mouser.com/access/?pn=H-OU-16
http://www.mouser.com/access/?pn=F-R150-1
http://www.mouser.com/access/?pn=F-R15-2
http://www.mouser.com/access/?pn=H-OU-9
http://www.mouser.com/access/?pn=F-R15-1
http://www.mouser.com/access/?pn=H-OU-15
http://www.mouser.com/access/?pn=F-R100-2
http://www.mouser.com/access/?pn=F-R150-2
http://www.mouser.com/access/?pn=F-R100-1
http://www.mouser.com/access/?pn=F-R100-1
http://www.mouser.com/access/?pn=F-R25-1
http://www.mouser.com/access/?pn=F-R50-1
http://www.mouser.com/access/?pn=H-IN-3


                                        Tел:  +7 (812) 336 43 04 (многоканальный) 
                                                    Email:  org@lifeelectronics.ru 
 
                                                         www.lifeelectronics.ru 

 

ООО “ЛайфЭлектроникс”                                                                                                                  “LifeElectronics” LLC 
ИНН 7805602321 КПП 780501001 Р/С 40702810122510004610 ФАКБ "АБСОЛЮТ БАНК" (ЗАО) в г.Санкт-Петербурге К/С 30101810900000000703 БИК 044030703  

 

      Компания «Life Electronics» занимается поставками электронных компонентов импортного и 
отечественного производства от производителей и со складов крупных дистрибьюторов Европы, 
Америки и Азии. 

С конца 2013 года компания активно расширяет линейку поставок компонентов по направлению 
коаксиальный кабель, кварцевые генераторы и конденсаторы (керамические, пленочные, 
электролитические),  за  счёт заключения дистрибьюторских договоров 

      Мы предлагаем: 

 Конкурентоспособные цены и скидки постоянным клиентам. 

 Специальные условия для постоянных клиентов. 

 Подбор аналогов. 

 Поставку компонентов в любых объемах, удовлетворяющих вашим потребностям. 
 

 Приемлемые сроки поставки, возможна ускоренная поставка. 

 Доставку товара в любую точку России и стран СНГ. 

 Комплексную поставку. 

 Работу по проектам и поставку образцов. 

 Формирование склада под заказчика. 
 

 Сертификаты соответствия на поставляемую продукцию (по желанию клиента). 

 Тестирование поставляемой продукции. 

 Поставку компонентов, требующих военную и космическую приемку. 

 Входной контроль качества. 

 Наличие сертификата ISO. 
 

       В составе нашей компании организован Конструкторский отдел, призванный помогать 
разработчикам, и инженерам. 

  Конструкторский отдел помогает осуществить: 

 Регистрацию проекта у производителя компонентов. 

 Техническую поддержку проекта. 

 Защиту от снятия компонента с производства. 

 Оценку стоимости проекта по компонентам. 

 Изготовление тестовой платы монтаж и пусконаладочные работы. 

 

 

 

  

 

 

mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

